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Problem Solving: —i—) =

Textbook Page 140.

12. Stella decide to ski to a friend’s cabm She skied 10.0 km in the direction N40°E. She
rested, then skied $45°E and arrived at the cabin. The cabin is 14.5 km from her home
as the crow flies. Determine, to the nearest tenth of a km, the distance she travelled on
the second leg of her trlp
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Textbook Page 168.

5. Allison is flying a kite. She has released the entire 150 m ball of kite string. She notices
that the string forms a 70° angle with the ground. Marc is on the other side of the kite

and see the kite at an angle of elevation of 30°. How far is Marc from Allison, to the
nearest tenth of a metre?
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9. Two airplanes leave the Hay River affport i the North West Territories at pee 2
same time. One airplane travels @t 355 h. The other airplane travels )
About 2h hours later, they are 800 km apart. Determine the angle between theiryaths,

to the nearest degr: - & .
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Text Questions:
Page 139 - 3,4,6ab, 10 and 13
Page 151 -4, 5, 7ab, 8, 13.

P139: 4

4. Scotr is studying the effects of A
environmental changes on fish
populations in his summer job. As
part of his rescarch, he needs to know
the distance berween two points on | o
Lake Laberge, Yukon. Scott makes Lake
the measurements shown and uses Laberge
the sine law to determine the lake’s \
length as 36.0 km . 41.0 km
a) Agathe, Scott’s research partner, !
says that his answer is incorrect. 5T
Explain how she knows.
b) Determine the distance berween the rwd points 1o the nearest
tenth of a kilometre,

The lake needs to be the longest side in
the triangle; opposite the biggest angle
of 74.
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P139: 13

13. A bridge has been builc across a gorge.
Jordan wants to bungee jump from the
bridge. One of the things she must know,
to make the jump safely, is the depeh
of the gorge. She measured the gorge as
shown. Determine the depth of the gorge

to the nearest tenth of 2 mertre.
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